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SERIES: Z11
GRAPH 1

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 + GRAPH 2
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ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 + GRAPH 2
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SERIES: Z11

GRAPH 3

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4
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for low viscosity, non-lubricating
liquids. 
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SERIES: Z17

GRAPH 3

TOTAL INPUT HORSEPOWER [Kw] = GRAPH 3 + GRAPH 4

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

 S
H

O
W

N
O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

0 100 200 300 400 500 600 700 750
0 [0]

1 [.75]

2 [1.5]

3 [2.2]

4 [3.0]

5 [3.7]

 [4.5]

7 [5.2]

8 [6.0]

9 [6.7]

10 [7.4]

25PSI [172.4 kPa]

50 PSI [344.7 kPa]
75 PSI [517.1 kPa]100 PSI [6

89.5 kPa]125 PSI [8
61.8 kPa]

INPUT HORSEPOWER



VISCOSITY - SSU [cSt]

SERIES: Z17
GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4
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for low viscosity, non-lubricating
liquids.
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ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 + GRAPH 2

0 100 200 300 400 500 600 700 750

20 [75.7]

0 [0]

40 [151.4]

60 [227.1]

80 [302.8]

100 [378.5]

120 [454.2]

140 [530.0]

160 [605.7]

GRAPH 1
THEORETICAL GPM



VISCOSITY - SSU [cSt]

25 PSI [172.4 kPa]

50 PSI [344.7]

75 PSI [517.1 kPa]

100 PSI [689.5 kPa]

125 PSI [861.8 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

 S
H

O
W

N
 

O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

S
L

IP
 G

P
M

 [
l/

m
in

]
SERIES: Z22

GRAPH 2

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 + GRAPH 2

.1 [.38]

.2 [.76]

.3 [1.1]

.4 [1.5]

1 [3.8]

2 [7.6]

3 [11.4]

4 [15.1]

10 [37.9]

20 [75.7]

3
0 

[.
28

]

4
0 

[4
.2

]

6
0 

[1
0

.3
]

8
0 

[1
5

.6
]

1
00

 [
2

0
.7

]

2
00

 [
4

3
.3

]

4
00

 [
8

7
.7

]

6
00

 [
1

3
1

.8
]

8
00

 [
1

7
5

.8
]

1
00

0
 [

2
2

0]

2
00

0
 [

4
4

0]

4
00

0
 [

8
8

0]

6
00

0
 [

1
3

20
]

8
00

0
 [

1
7

60
]

1
00

0
0

 [
2

20
0

]

SLIP



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES: Z22
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GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4
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